fmmm AT B S AN EX

BE: FF, &45%%: C9, fu&: P001-1 [C:0,Y3:0] R~:50 cm* 50 cm, & &: 170.0 cm
FHEE:
yng'?g(% 14E-IKFE): A5+ 15 (Lg)+8HE (Ldh+A1)([#4E]) = (170+174+38+35.57)*16/100 = 66.81 M
HERE (S )= (50+50)*2-8*4+2*13.89=195.8
BR=-0-BEEEFEEBRHIHG
55% ﬁg-%%}ﬁﬁﬁﬁ(ﬁgg)ﬂ95.8*(|nt(170/10)+1 )/100=35.24 M
REAFR
XK ) B R E (5 FAE)= (50-2* (R EE14+2*[180E E #1]14.9)*2=143.4
Y(EEBE)ERE(FFE)= (50-2*[{REE|4+2*[180E E87]14.9)*2=143.4
BR=-0-ZEEEEHERBHEHIH
" #i ;@%%EE%EEF (143.4+143.4)*Int((170)/10)/100= 48.76 M
& R AT &
TR (50+50)*2%(170-50)/10000=2.40 M2
ERE SRR
25:138:-(FB7) 50*(170-50)/10000=0.60
25:238:-(FG3) 50*(170-50)/10000=0.60
25:338:-(FB8) 50*(170-50)/10000=0.60
B E/Net:1.80 M2
HAREZE RN
25:138:0.00*50/10000=0.0000
25:232:0.00*50/10000=0.0000
25:332:0.00*50/10000=0.0000
LA _E/1NEF:0.0000 M2
A E AR AR BR:
B E/NEF:0.00 M2
AR A ET:2.40- [ B 3T $]1.80-[4F MR 32 $£]0.00-[ 4 1% 3 4%]0.00=0.60 M2
RCERER "FFt#E., :

#8=66.811 M (66.811 M*3.980/1000= 0.2659 T)
A/ NET =0.3494 T
RN = 0.60 M2
B /NET =0.000 M3
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